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QUESTION 1

Which two statement describe the role of an artifact repository in a CI/CD pipeline? (Choose two.)

A. An artifact repository allows to compare and merge changes in the source code of files involved in a build process.
B. An artifact repository is needed only for CI/CD pipeline executed on a public cloud infrastructure.

C. An artifact repository provides traceability, search, and management of binary files.

D. An artifact repository is needed only for managing open source software.

E. An artifact repository stores files needed and generated during the build process.

Correct Answer: CE

QUESTION 2

DRAG DROP Drag and Drop the GIT commands from the left onto the right that add modified local files to a remote
repository. Not all options are used

Select and Place:

git push Git command one

| git add . Git command two

git checkout -b “new branch” Git command three

| git commit -m “this is my edit”

gt pull

Correct Answer:
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git add .

| git commit -m “this is my edit”

I

git checkout -b “new branch

gt pull

Step 1: gitadd .
Step 2: git commit -m "this is my edit"

Step 3: git push

git push

(if the remote repository is not connect yet, we will need to use a Step 2.5 of "git remote add origin "

QUESTION 3

What are the two purposes for using a VLAN in a network? (Choose two)

A. It is used to create the routing table.

B. It creates a collection of MAC addresses.
C. It is used for VM network traffic.

D. It segments a network.

E. It creates a broadcast domain.

Correct Answer: DE

QUESTION 4

A developer pushes an application to production. The application receives a webhook over HTTPS without a secret. The

webhook information contains credentials to service in cleartext. When the information is received, it is stored in the
database with an SHA-256 hash. Credentials to the database are accessed at runtime through the use of a vault

service. While troubleshooting, the developer sets the logging to debug to view the message from the webhook. What is

the security issue in this scenario?

A. Database credentials should be accessed by using environment variables defined at runtime.

B. During the transport of webhook messages, the credentials could be unencrypted and leaked.

200-901 PDF Dumps | 200-901 Practice Test | 200-901 Braindumps 3/5


https://www.geekcert.com/200-901.html
https://www.geekcert.com/200-901.html
https://www.geekcert.com/200-901.html

VCE & PDF https://lwww.geekcert.com/200-901.html
2024 Latest geekcert 200-901 PDF and VCE dumps Download

GeekCert.com

C. During logging, debugging should be disabled for the webhook message.
D. Hashing the credentials in the database is not secure enough; the credentials should be encrypted.

Correct Answer: B

QUESTION 5
DRAG DROP
Drag and drop the element of the Finesse API on the left onto the description of its functionality on the right.

Select and Place:

User Represents a skill group in Unified CCE.
Dialog Represents the current state of the system.
. Represents an agent, supervisor
Media or administrator.
Queue Represents a group of users.
1 Represents a call and the participants
cat if the media type is voice.
Sends client-side logging
Systeminfo to the Finesse Server.
i Represents a user’s state in a non-voice
ClientLogs Media Routing Domain.

Correct Answer:
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Queue

Systeminfo

User

Team

Dialog

ClientLogs

Media

Reference: https://developer.cisco.com/docs/finesse/#!cisco-finesse-desktop-apis
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